
SAP ABAP table REGUH {Settlement data from payment program}

REGUH

MANDT [CLNT (3)]

LAUFD [DATS (8)]

LAUFI [CHAR (6)]

XVORL [CHAR (1)]

ZBUKR [CHAR (4)]

LIFNR [CHAR (10)]

KUNNR [CHAR (10)]

EMPFG [CHAR (16)]

VBLNR [CHAR (10)]

WAERS [CUKY (5)]

SRTGB [CHAR (4)]

LAND1 [CHAR (3)]

ZLAND [CHAR (3)]

ZREGI [CHAR (3)]

ZBNKS [CHAR (3)]

ZSPRA [LANG (1)]

RZAWE [CHAR (1)]

HKTID [CHAR (5)]

HBKID [CHAR (5)]

HKTIW [CHAR (5)]

HBKIW [CHAR (5)]

UBNKS [CHAR (3)]

UBHKT [CHAR (10)]

BUSAB [CHAR (2)]

ZLSPR [CHAR (1)]

ABWAE [CUKY (5)]

ABSBU [CHAR (4)]

UZAWE [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 REGUH-KUNNR = KNA1-KUNNR 
0..N

1

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 REGUH-LIFNR = LFA1-LIFNR 
0..N

1

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 REGUH-UBHKT = SKB1-SAKNR 
0..N

1

T000

MANDT [CLNT (3)]

 REGUH-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 REGUH-ABSBU = T001-BUKRS 

0..N

0..N

 REGUH-ZBUKR = T001-BUKRS 0..N

1

T001S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BUSAB [CHAR (2)]

 REGUH-BUSAB = T001S-BUSAB 
0..N

{0,1}

T002

SPRAS [LANG (1)]

 REGUH-ZSPRA = T002-SPRAS 
0..N

1 T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 REGUH-LAND1 = T005-LAND1 

0..N

{0,1}
 REGUH-UBNKS = T005-LAND1 

0..N

{0,1}
 REGUH-ZBNKS = T005-LAND1 0..N

{0,1}  REGUH-ZLAND = T005-LAND1 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]
 REGUH-ZREGI = T005S-BLAND 0..N{0,1}

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]

 REGUH-ZLSPR = T008-ZAHLS 

0..N

{0,1}

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 REGUH-HBKID = T012-HBKID 

0..N

1

 REGUH-HBKIW = T012-HBKID 

0..N

{0,1}

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 REGUH-HKTID = T012K-HKTID 

0..N

1

 REGUH-HKTIW = T012K-HKTID 

0..N

{0,1}

T042F

MANDT [CLNT (3)]

UZAWE [CHAR (2)]

 REGUH-UZAWE = T042F-UZAWE 

0..N

{0,1}

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 REGUH-RZAWE = T042Z-ZLSCH 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 REGUH-ABWAE = TCURC-WAERS 

0..N

{0,1}

 REGUH-WAERS = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 REGUH-SRTGB = TGSB-GSBER 

0..N

{0,1}


